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[ BUKGE (simplex method) ] ratio test
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. = . /BA = . i £# (an optimal solution)
EE2: LPIkBER L R E e (6.0.00)

£%3E{E (the optimal value)

® E%EEEEEEFQE md | - BIKEDEZA 12
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. Tg%yoftjﬁ()-gfgjggéﬁﬂp, Q. R, SOEIL, E&2500kg, 3000kg, max. z :_ 12 67{,} - 2x; «\_\V)x(l i:gmlcmnary)
- A B, CE1EIFE>THRLNHRIEAE 2 75M, 475, 55 S b X)= 677/2x,73/2%5 =3/ 2%, BmsE
X, X5, x;& Xy =0 (an optimal dictionary)
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[ BARSK (simplex method) }G.B.Dantzig (1947)

25 ERHARE

[ R R i% (interior point method) } N.Karmarkar (1984) E - WA RERE (175K E)

max. ¢'x min. by
X3 st Ax=b st Ayts=c
x=0
NewtonFFER
A O O|4x 0
O A I|dy|=|0
S O X|4ds d
JacobifT3ll
X2 NewtonAEANI ML
X
1 d;=p-xs,
(=L .n)

Coffee break simplex ?

Def. Let S be an arbitrary set in E,. The convex hull of S ,denoted by
H(S), is the collection of all convex combination of S.
In other words, — x € H(S) ifandonlyif x=3k_,x;

T =14=00¥)

xj € S(V))
Def. The convex hull of a finite number of points x,,...x,.; in E, is
called a polytope.
Def. 4 collection of vectors x,,...x, in E, is considered to be
linearly independent , if y*_ 3;x; = 0 implies that 1,=0 for all j.
Def. 4 collection of vectors x,,..,x,.; in E, is considered to be
affinely independent , if (x,-x)),..,(x,,, -x,) are linearly independent .

Def. Ifx,,...x,,,; are affinely independent, H(x,,..,x,.,) is called a
simplex with x,,..,.x; .

¢f. M.S.Bazarra, et. al. "Nonlinear Programming” Wiley(1979,1993)

Coffee break simplex ?

The regular n-dimensional simplex

¢f. J.Matousek, et. al. "Understanding and Using Linear Programming” springer(2000)
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